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4 g s AhEANE i
Lold4d 1,096,126| 781,581 314,545
1. AR RSP A7) ol AT 1,096,126 781,581 314,545
1. S S AAY T 1,096,126| 781,581 314,545
1. SR S-S A Y= 1,096,126| 781,581 314,545
1.8 mggdn A= 622,691 567,397 55,294 _i%ﬂﬁﬂ%%oéﬂl + 580,794,0009 « 1743t 580,794,000
Y 7)1 Ee-dn] 1 41,897,0009 % 17]al = 41,897,000
2. 5 XA u A G = 473,435 214,184| 259,251 FAFF2 M A ¢ 336,804,0009 = 1)L = 336,804,000
A2 A A=A ¢ 36,282,0009 « 17haL = 36,282,000
FTFEFFAET A 0 4,149,0009 # 1 4 149 000
A = T
WEskEA AN ¢ 50,000,0009 = 170R = 50,000,000
S8 WAGR A ¢ 46,200,0009 * 17HRL = 46,200,000
2. AA 4 566,540  500,482| 66,058
1.8 R ekaEgl 563,540| 497,982 65,558
1.5 49 563,540  497,982| 65,558
1529 73,430 65,212 8,218
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2.9 31,535 28,560 2,975 | 9-fra A ul (2ol Ah) ¢ 5309035078 #170U = 31,535,000
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1. 75-8 &5 1] 435,810 389,170 46,640 | 5 =% ZHAM] ¢ 32,0009%6078 129 = 23,040,000
2 AR 32,0009 %65 129 = 24,960,000
428k ZFAbH] ¢ 32,0009 #457 x 129 = 17,280,000
oJo] ZAH] @ 32,0009 %70 129 = 26,880,000
ul g ZFARE] ¢ 32,0000 #5078 129 = 19,200,000
ZolTo ZAkn] 32,0009 +608 + 129 = 23,040,000
FAkgkal ZFAbE] 1 32,0009 %50 #1298 = 19,200,000
AFE AR 0 32,0009%75% «12Y= 28,800,000
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2R3 ZApn] 32,0009 #6578+ 129 = 24,960,000
HARAZH] (FA =) 15,0009 «60m8 x4 L= 3,600,000
WADAEH (3R} 15,000 #6578 #4 L= 3,900,000
AALAZH (Fo]) 25,000 #7078 x4 L= 7,000,000
FADA T (FAFE) 1 15,0009 %751 #4 L= 4,500,000
WARAFH](F2EAAE) 10,0009 #5078 4 Y= 2,000,000
FADAFZH](Fo}z) 1 10,0009 %508 +6Y = 3,000,000
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AADAZH](523}) 20,0009 #4578 #2 D= 1,800,000
WARAZH] (FoF=E7]) ¢ 10,0009 #5578 2 1,100,000
9=
AR A ER (A2) ¢ 10,0009 #6578 #2 D= 1,300,000
WALAEH] (RFe] & 9) ¢ 10,000 #25™ #4 L= 1,000,000
vhSE ZFARE] 32,0000 #7078 129 = 26,880,000
WALANEH] (BFE) 10,000 #7078 «8 L= 5,600,000
3. dAETEH 49,500 40,000 9,500
1. A4 @ 5] 19,500 40,000 9,500 T AAEEFTHI(FAD)  90,0008550H 15 g 54 00
4. 594 4,800 3,600 1,200
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1.eAAY oI F 10,000/ 10,000 0
1.=AAY = 10,000 10,000 0
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